

PRICE LIST IRELAND 2023













WELLA PROFESSIONALS COLOUR



SALON	PRODUCT	PACK	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	KOLESTON PERFECT ME+				
	Koleston Perfect ME+	1 x 60ml	€14.15	n/a	n/a
	ILLUMINA COLOR ILLUMINA COLOR	1 x 60ml	€16.10	n/a	n/a
	COLOR TOUCH				
Course Torus	Color Touch	1 x 60ml	€13.55	n/a	n/a
	SHINEFINITY				
200	Shinefinity Shinefinity Clear 00/00	1 x 60ml 1 x 500ml	€13.55 €46.50	n/a n/a	n/a n/a
SHARE SHOT SALE		1 X 500mm	240.50	11/ a	11/a
	TRUE GREY	1 (0			
	True Grey True Grey Activator	1 x 60ml 1 x 500ml	€13.55 €9.70	n/a n/a	n/a n/a
	True Grey Clear Conditioning Perfector	1 x 500ml	€20.30	n/a	n/a
	COLOR FRESH				
A	Color Fresh	1 x 75ml	€12.45	n/a	€16.25
	Color Fresh Create	1 x 60ml	€12.45	n/a	n/a
	COLOR FRESH MASK				
	Color Fresh Mask	1 x 150ml	€13.00	n/a	€20.50
	Color Fresh Mask	1 x 500ml	€27.95	n/a	n/a
	PERFECTON				
	Perfecton	1 x 250ml	€20.75	n/a	n/a
	BLONDOR				
DOR N	Blondorplex Toner	1 x 60ml	€13.55	n/a	n/a
	Blondor Multi Blonde Powder	1 x 800g	€54.50	n/a	n/a
	Blondor Multi Blonde Powder	1 x 400g	€29.95	n/a	n/a
	Blondor Multi Blonde Powder	12 x 30g	€2.00	€24.00	n/a
	Blondor Soft Blonde Cream	1 x 200g	€20.70	n/a	n/a
	Blondor Blonde Seal & Care	1 x 500ml	€58.05	n/a	n/a
	Blondor Freelights Powder Blondor Freelights Developer 12% / 9% / 6%	1 x 400g 1 x 1000ml	€42.95 €19.45	n/a n/a	n/a n/a
1	Magma by Blondor Powder	1 x 120g	€50.90	n/a	n/a
V W D V W	Magma by Blondor Post Treatment	1 x 500ml	€58.05	n/a	n/a
	BLONDORPLEX				
S	Blondorplex Multi Blonde Powder	1 x 800g	€65.65	n/a	n/a
	Blondorplex Multi Blonde Powder	1 x 400g	€36.00	n/a	n/a
	WELLAPLEX				
25	Wellaplex No3 Hair Stabilizer	6 x 100ml	€19.80	€118.80	€31.00
BELLE PLEX	Wellaplex Kit Big Step 1+2	3 x 500ml	€360.70	n/a	n/a
	Wellaplex No1 Bond Maker	1 x 500ml	€179.80	n/a	n/a
	Wellaplex No2 Bond Stabilizer	1 x 500ml	€90.50	n/a	n/a
	Wellaplex Dosing Device	Single	€1.70	n/a	n/a
	COLOR RENEW				
	Liquid Activator	1 x 500ml	€12.00	n/a	n/a
	Crystal Powder	5 x 9g	n/a	€28.60	n/a

WELLA PROFESSIONALS CARE



SALON	PRODUCT	PACK	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	DEVELOPERS				
1	Welloxon Perfect 1.9% / 4% / 6% / 9% / 12%	1 x 1000ml	€16.00	n/a	n/a
20	Welloxon Perfect 1.9% / 4% / 6% / 9% / 12%	1 x 500ml	€9.00	n/a	n/a
	Color Touch Emulsion 1.9% / 4%	1 x 1000ml	€16.00	n/a	n/a
	Color Touch Plus Emulsion 4%	1 x 1000ml	€16.00	n/a	n/a
	Color Touch Emulsion 1.9% / 4%	1 x 500ml	€9.00	n/a	n/a
	Shinefinity activator 2% brush & bowl application		€16.00	n/a	n/a
	Shinefinity activator 2% bottle application	1 x 1000ml	€16.00	n/a	n/a
	CREATINE+				
	Creatine+ Curl (C) Hair Kit	3 x Kit	€12.20	€36.60	n/a
	Creatine+ Curl (N) Hair Kit	3 x Kit	€12.20	€36.60	n/a
	Creatine+ Straight (C) 200ml	1 x 200ml	€25.75	n/a	n/a
	Creatine+ Straight (H) 200ml	1 x 200ml	€25.75	n/a	n/a
	Creatine+ Straight (N) 200ml	1 x 200ml	€25.75	n/a	n/a
	Creatine+ Wave (C) Hair Kit	3 x Kit	€12.20	€36.60	n/a
	Creatine+ Wave (N) Hair Kit	3 x Kit	€12.20	€36.60	n/a
	Creatine+ Straight Neutralizer 1000ml	3 x 1000ml	€33.35	€100.05	n/a
	INVIGO COLOR BRILLIANCE				
Sta	Color Brilliance Shampoo Coarse	1 x 1000ml	€24.95	n/a	€32.70
A DECEMBER OF A	Color Brilliance Conditioner Coarse	1 x 1000ml	€35.90	n/a	€47.00
	Color Brilliance Shampoo Fine	1 x 1000ml	€24.95	n/a	€32.70
	Color Brilliance Conditioner Fine	1 x 1000ml	€35.90	n/a	€47.00
	Color Brilliance Mask Coarse	1 x 500ml	€37.20	n/a	€48.70
	Color Brilliance Mask Fine	1 x 500ml	€37.20	n/a	€48.70
	INVIGO NUTRI-ENRICH				
ALL	Nutri-Enrich Shampoo	1 x 1000ml	€24.95	n/a	€32.70
EBCC Arrente Arrente	Nutri-Enrich Conditioner	1 x 1000ml	€35.90	n/a	€47.00
	Nutri-Enrich Mask	1 x 500ml	€37.20	n/a	€48.70
	INVIGO VOLUME BOOST				
And a second	Volume Boost Shampoo	1 x 1000ml	€24.95	n/a	€32.70
	INVIGO BALANCE				
	Calm Shampoo	1 x 1000ml	€24.95	n/a	€32.70
	Pure Shampoo	1 x 1000ml	€24.95	n/a	€32.70
Contraction Anticenting 	INVIGO Blonde Recharge Shampoo				
	Blonde Recharge Shampoo	1 x 1000ml	€24.95	n/a	€32.70
	OIL REFLECTIONS				
Sec	Oil Reflections Shampoo	1 x 1000ml	€29.70	n/a	€39.00
	Oil Reflections Mask	1 x 500ml	€38.70	n/a	€50.70
	FUSION				
	Fusion Shampoo	1 x 1000ml	€29.70	n/a	€39.00
site.	Fusion Conditioner	1 x 1000ml	€38.80	n/a	€51.00
Ranton	Fusion Mask	1 x 500ml	€38.70	n/a	€50.70
	Fusion Amino Refiller	6 x 70ml	€24.70	€148.20	€32.00
	ELEMENTS				
interiore in Z.	Elements Renewing Shampoo	1 x 1000ml	€29.70	n/a	€39.00
and a second	Elements Calm Shampoo	1 x 1000ml	€29.70	n/a	€39.00
Barran and Andrews	Elements Renewing Conditioner	1 x 1000ml	€38.80	n/a	€51.00
	Elements Mask	1 x 500ml	€38.70	n/a	€50.70

WELLA PROFESSIONALS CARE



SALON	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	COLOR MOTION+				
int.	Color Motion Shampoo	1 x 1000ml	€29.70	n/a	€39.00
Common .	Color Motion Mask	1 x 500ml	€38.70	n/a	€50.70
	Marula Oil Primer	1 x 150 ml	€14.20	n/a	n/a
	INVIGO COLOR SERVICE				
200	Pre-Colour Treatment	1 x 185ml	€33.15	n/a	n/a
	Post-Colour Express Treatment	1 x 500ml	€20.25	n/a	€26.30
-	Post Color Treatment	1 x 1000ml	€33.65	n/a	€44.00
	Post Color Treatment	1 x 250ml	€15.40	n/a	n/a
RETAIL	INVIGO COLOR BRILLIANCE				
	Color Brilliance Shampoo Coarse	6 x 300ml	€13.70	€82.20	€17.40
-	Color Brilliance Conditioner Coarse	6 x 200ml	€15.75	€94.50	€19.65
	Color Brilliance Shampoo Fine	6 x 300ml	€13.70	€82.20	€17.40
and C. 1992 Co 	Color Brilliance Conditioner Fine Color Brilliance Mask Fine	6 x 200ml	€15.75 €16.50	€94.50	€19.65
	Color Brilliance Mask Fine Color Brilliance Mask Coarse	6 x 150ml 6 x 150ml	€16.50	€99.00 €99.00	€20.40 €20.40
	Color Brilliance Miracle BB Spray	6 x 150ml	€16.55	€99.30	€20.60
	color binnarice miracle bb Spray	0 X 130111	010.00	099.50	020.00
	INVIGO NUTRI ENRICH				
2000. 2010.	Nutri Enrich Shampoo	6 x 300ml	€13.70	€82.20	€17.40
	Nutri Enrich Conditioner	6 x 200ml	€15.75	€94.50	€19.65
	Nutri Enrich Mask	6 x 150ml	€16.50	€99.00	€20.40
	Nutri Enrich Frizz Control Cream	6 x 150ml	€16.55	€99.30	€20.60
	INVIGO VOLUME BOOST				
525.5 123577	Volume Boost Shampoo	6 x 300ml	€13.70	€82.20	€17.40
	Volume Boost Uplifting Care Spray	6 x 150ml	€16.55	€99.30	€20.60
	INVIGO BALANCE				
	Calm Shampoo	6 x 300ml	€13.70	€82.20	€17.40
alforden 	Clean Shampoo	6 x 300ml	€13.70	€82.20	€17.40
26.000	Pure Shampoo	6 x 300ml	€13.70	€82.20	€17.40
	INVIGO COLOR RECHARGE				
State accessed	Blonde Recharge Cool Blonde Shampoo	6 x 300ml	€13.70	€82.20	€17.40
	Blonde Recharge Cool Blonde Conditioner	6 x 200ml	€15.75	€94.50	€19.65
	INVIGO SUN				
	After Sun Cleansing Shampoo	6 x 300ml	€13.70	€82.20	€17.40
	After Sun Express Conditioner	6 x 200ml	€15.75	€94.50	€19.65
	UV Hair Color Protection Spray	6 x 150ml	€16.10	€96.60	€21.60
	OIL REFLECTIONS				
	Oil Reflections Smoothening Oil	6 x 100ml	€21.10	€126.60	€27.50
E.	Oil Reflections Smoothening Oil	6 x 30ml	€9.60	€57.60	€12.50
	Oil Reflections Light Oil	6 x 100ml	€21.10	€126.60	€27.50
	Oil Reflections Light Oil	6 x 30ml	€9.60	€57.60	€12.50
	Oil Reflections Shampoo	6 x 250ml	€13.70	€82.20	€17.40
	Oil Reflections Conditioner	6 x 200ml	€18.65	€111.90	€22.70
	Oil Reflections Mask	6 x 150ml	€19.20	€115.20	€23.15
ff	FUSION				
62.	Fusion Shampoo	6 x 250ml	€13.70	€82.20	€17.40
RUNDN Britter	Fusion Conditioner	6 x 200ml	€18.65	€111.90	€22.70
	Fusion Mask	6 x 150ml	€19.20	€115.20	€23.15
	ELEMENTS				
	Elements Renewing Shampoo	6 x 250ml	€13.70	€82.20	€17.40
a firming	Elements Calming Shampoo	6 x 250ml	€13.70	€82.20	€17.40
	Elements Renewing Conditioner	6 x 200ml	€18.65	€111.90	€22.70
	Elements Renewing Mask	6 x 150ml	€19.20	€115.20	€23.15
	Elements Renewing Leave-in Spray	6 x 150ml	€18.65	€111.90	€22.80
	Elements Calm Serum	6 x 100ml	€18.35	€110.10	€22.05

WELLA PROFESSIONALS CARE & STYLE



RETAIL	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	COLORMOTION+ Color Motion Shampoo Color Motion Conditioner Color Motion Mask	6 x 250ml 6 x 200ml 6 x 150ml	€13.70 €18.65 €19.20	€82.20 €111.90 €115.20	€17.40 €22.70 €23.15
it. Para References	NUTRICURLS Nutricurls Waves Shampoo Nutricurls Curls Shampoo Nutricurls Detangling Conditioner Nutricurls Cleansing Conditioner Nutricurls Mask	6 x 250ml 6 x 250ml 6 x 200ml 6 x 250ml 6 x 150ml	€13.70 €13.70 €18.65 €18.65 €19.20	€82.20 €82.20 €111.90 €111.90 €115.20	€17.40 €17.40 €22.70 €22.70 €23.15
L	Nutricurls Curlixer Balm ULTIMATE REPAIR Ultimate Repair Shampoo 250ml	6 x 150ml 6 x 250ml	€18.35 €20.25	€110.10	€22.05 €26.00
	Ultimate Repair Shampoo 250m Ultimate Repair Conditioner 200ml Ultimate Repair Miracle Rescue 30ml Ultimate Repair Leave In 140ml Ultimate Repair Shampoo 1000ml Ultimate Repair Conditioner 500ml Ultimate Repair Miracle Rescue 95ml	6 x 200ml 6 x 30ml 6 x 140ml 1 x 1000ml 1 x 500ml 1 x 95ml	€22.50 €24.75 €24.75 €39.25 €28.25 €53.25	€121.50 €135.00 €148.50 €148.50 n/a n/a n/a	€29.00 €32.00 €32.00 €50.50 €36.50 €68.50
	TRAVEL SIZES Color Brilliance Mask 75ml Color Brilliance Shampoo 100ml Nutri Enrich Mask 75ml Nutri Enrich Shampoo 100ml ColorMotion+ Mask 75ml ColorMotion+ Shampoo 100ml Elements Mask 75ml Elements Shampoo 100ml Fusion Mask 75ml Fusion Shampoo 100ml Ultimate Repair Shampoo 100ml Ultimate Repair Conditioner 75ml	12 x 75ml 12 x 100ml 12 x 75ml 12 x 75ml 12 x 75ml	<pre>€7.40</pre> €6.20 €7.40 €6.20 €7.80 €7.40 €7.80 €7.40 €7.80 €7.40 €11.75 €11.75	<pre>€88.80 €74.40 €88.80 €74.40 €93.60 €88.80 €93.60 €88.80 €93.60 €88.80 €141.00 €141.00</pre>	€9.50 €8.00 €9.50 €10.00 €9.50 €10.00 €9.50 €10.00 €9.50 €10.00 €9.50 €15.00 €15.00
	PUMPS Wella 1 Litre pump Color Fresh Mask/Ultimate Repair/ WellaPlex Step 2 500ml pump Wella 500ml pump	Single Single Single	€2.70 €2.50 €2.50	n/a n/a n/a	n/a n/a n/a
	EIMI - VOLUME EIMI Body Crafter EIMI Perfect Setting EIMI Sugar Lift EIMI Dry Me EIMI Root Shoot EIMI Natural Volume EIMI Extra-Volume EIMI Shape Control EIMI Shape Control EIMI Shape Control EIMI Shape Control EIMI Take Shape	6 x 150ml 6 x 150ml 6 x 150ml 6 X 180ml 6 x 200ml 6 x 300ml 6 x 300ml 6 x 300ml 6 x 500ml 6 x 500ml 6 x 500ml 2 x 18ml	€14.10 €14.10 €14.10 €17.05 €14.10 €17.05 €17.05 €17.05 €19.80 €19.80 €19.80 €2.00	<pre>€84.60 €84.60 €102.30 €84.60 €102.30 €102.30 €102.30 €102.30 €118.80 €118.80 €118.80 €118.80</pre>	
	EIMI - SMOOTH EIMI Velvet Amplifier EIMI Perfect Me EIMI Thermal Image EIMI Flowing Form EIMI Cocktail Me	6 x 50ml 6 x 100ml 6 x 150ml 6 x 100ml 6 x 100ml	€12.55 €13.65 €14.75 €15.85 €20.70	€75.30 €81.90 €88.50 €95.10 €124.20	€15.75 €17.25 €18.75 €20.25 €27.25

WELLA PROFESSIONALS STYLE



RETAIL	PRODUCT	PACK	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
an "man	EIMI - TEXTURE EIMI Shape Me EIMI Ocean Spritz EIMI Pearl Styler EIMI Rugged Texture EIMI Sculpt Force EIMI Texture Touch EIMI Grip Cream EIMI Bold Move EIMI Shape Shift	6 x 150ml 6 x 150ml 6 x 100ml 12 x 75ml 6 x 125ml 6 x 75ml 6 x 75ml 6 x 150ml 6 x 150ml	€17.05 €13.55 €13.55 €15.60 €16.50 €17.05 €17.05 €19.35 €19.35	€102.30 €81.30 €93.60 €99.00 €102.30 €102.30 €116.10 €116.10	€21.50 €17.00 €17.00 €19.25 €20.75 €21.50 €21.50 €24.25 €24.25
	EIMI Just Brilliant EIMI Just Brilliant EIMI Glam Mist EIMI Oil Spritz	6 x 75ml 6 x 200ml 6 x 100ml	€15.75 €17.05 €20.70	€94.50 €102.30 €124.20	€18.75 €21.50 €27.25
	EIMI - FIXING HAIRSPRAYS EIMI Flexible Finish EIMI Mistify Me Light EIMI Mistify Me Strong EIMI Super Set EIMI Dynamic Fix EIMI Mistify Me Light EIMI Mistify Me Strong EIMI Super Set	6 x 250ml 6 x 300ml 6 x 300ml 6 x 300ml 6 x 500ml 6 x 500ml 6 x 500ml 6 x 500ml	€17.05 €17.40 €17.40 €17.05 €19.80 €20.15 €20.15 €19.80	€102.30 €104.40 €104.40 €102.30 €118.80 €120.90 €120.90 €118.80	€21.50 €21.75 €21.75 €21.50 €24.50 €24.75 €24.75 €37.50
	EIMI - CURLS EIMI Soft Twirl EIMI Curl Shaper EIMI Boost Bounce EIMI Fresh Up	6 x 200ml 6 x 150ml 6 x 300ml 6 x 150ml	€13.55 €17.05 €17.05 €13.55	€81.30 €102.30 €102.30 €81.30	€17.00 €24.25 €21.50 €17.00
	EIMI - TRAVEL SIZE EIMI Dry Me EIMI Pearl Styler EIMI Sculpt Force EIMI Extra-Volume EIMI Root Shoot EIMI Mistify Me Light	12 x 65ml 50 x 30ml 50 x 28ml 12 x 75ml 24 x 75ml 12 x 75ml	€10.25 €6.05 €6.05 €6.05 €6.05 €1.45	€123.00 €302.50 €302.50 €72.60 €145.20 €17.40	€13.25 €8.00 €8.00 €8.00 €8.00 €2.00
	PERFORMANCE HAIRSPRAY Performance Ultra Hold Performance Extra Hold	6 x 500ml 6 x 500ml	€11.65 €11.65	€69.90 €69.90	€13.75 €13.75

SYSTEM PROFESSIONAL



SALON	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
anter S.	COLOR SAVE Color Save Shampoo Color Save Conditioner	1 x 1000ml 1 x 1000ml	€29.80 €45.45	n/a n/a	n/a n/a
	Color Save Mask Color Lock Emulsion Color Save Infusion	1 x 400ml 1 x 50ml 20 x 5ml	€45.75 n/a n/a	n/a €11.35 €135.85	n/a n/a n/a
	LUXE BLONDES Luxe Blonde Shampoo Luxe Blondes Mask	1 x 1000ml 1 x 400ml	€36.95 €49.15	n/a n/a	n/a n/a
reference (REPAIR Repair Shampoo Repair Conditioner Repair Mask	1 x 1000ml 1 x 1000ml 1 x 400ml	€29.80 €45.45 €45.75	n/a n/a n/a	n/a n/a n/a
181	Repair Emulsion Repair Infusion	1 x 50ml 20 x 5ml	n/a n/a	€11.35 €135.85	n/a n/a
4. 8/11	LUXE OIL LuxeOil Keratin Protect Shampoo LuxeOil Keratin Conditioner LuxeOil Keratin Restore Mask LuxeOil Emulsion	1 x 1000ml 1 x 1000ml 1 x 400ml 1 x 50ml	€36.95 €51.35 €49.15 n/a	n/a n/a €11.65	n/a n/a n/a
- Ca	Lipid Booster BALANCE Balance Shampoo	20 x 5ml 1 x 1000ml	n/a €29.80	€135.85 n/a	n/a n/a
33010	Balance Mask CLEAR SCALP Purify Shampoo	1 x 400ml 1 x 1000ml	€45.75 €29.80	n/a n/a	n/a n/a
	Purify Mask HYDRATE Hydrate Shampoo	1 x 400ml 1 x 1000ml	€45.75	n/a n/a	n/a n/a
	Hydrate Conditioner Hydrate Mask Hydrate Emulsion Hydrate Infusion	1 x 1000ml 1 x 400ml 1 x 50ml 20 x 5ml	€45.45 €45.75 n/a n/a	n/a n/a €11.35 €136.20	n/a n/a n/a
riêne Ca	VOLUMIZE Volumize Shampoo Volumize Mask	1 x 1000ml 1 x 400ml	€29.80 €45.75	n/a n/a	n/a n/a
	Volumize Emulsion Volumize Infusion SMOOTHEN	1 x 50ml 20 x 5ml	n/a n/a	€11.35 €135.85	n/a n/a
and the Gap	Smoothen Shampoo Smoothen Conditioner Smoothen Mask Smoothen Infusion	1 x 1000ml 1 x 1000ml 1 x 400ml 20 x 5ml	€29.80 €45.45 €45.75 n/a	n/a n/a €135.85	n/a n/a n/a
refue Sec.	EXPERT Deep Cleanser Silver Shampoo Permlock Emulsion	1 x 1000ml 1 x 1000ml 1 x 50ml	€29.80 €29.80 n/a	n/a n/a €11.35	n/a n/a n/a
	INESSENCE Inessence Shampoo Inessence Conditioner Inessence Mask	1 x 1000ml 1 x 1000ml 1 x 400ml	€29.50 €51.05 €46.10	n/a n/a n/a	n/a n/a n/a

New accounts stocking System Professional are subject to additional terms and conditions. Please ask your Account Manager. *Recommended Retail Prices are non-binding and all prices are at the sole discretion of the salon.

SYSTEM PROFESSIONAL



RETAIL	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	COLOR SAVE Color Save Shampoo Color Save Conditioner Bi-Phase Conditioner Color Save Mask	1 x 250ml 1 x 200ml 1 x 185ml 1 x 200ml	€22.45 €26.05 €29.60 €37.05	n/a n/a n/a	€29.50 €33.75 €38.50 €48.25
	LUXE BLONDES Luxe Blondes Shampoo Luxe Blondes conditioner Luxe Blondes mask Luxe Blondes bi-phase	1 x 250ml 1 x 200ml 1 x 200ml 1 x 180ml	€24.65 €30.15 €39.60 €40.70	n/a n/a n/a	€32.25 €39.25 €51.50 €53.00
	REPAIR Repair Shampoo Repair Conditioner Repair Mask Repair Perfect Hair	1 x 250ml 1 x 200ml 1 x 200ml 1 x 150ml	€22.45 €26.05 €37.05 €34.85	n/a n/a n/a	€29.50 €33.75 €48.25 €45.50
	LUXEOIL LuxeOil Keratin Protect Shampoo LuxeOil Keratin Conditioner LuxeOil Keratin Boost Essence LuxeOil Keratin Restore Mask LuxeOil Reconstructive Elixir LuxeOil Reconstructive Elixir LuxeOil Cream Elixir Lipid Booster	1 x 250ml 1 x 200ml 1 x 100ml 1 x 200ml 1 x 30ml 1 x 100ml 1 x 50ml 1 x 95ml	<pre>€24.65 €30.15 €37.30 €39.60 €20.70 €40.70 €41.80 €46.30</pre>	n/a n/a n/a n/a n/a n/a	€32.25 €39.25 €48.75 €51.50 €27.00 €53.00 €54.50 €56.00
	SOLAR Solar Shampoo Solar Conditioner Solar Sun Oil Solar Sun Oil Solar Helio Spray Solar Cream	1 x 250ml 1 x 200ml 1 x 100ml 1 x 30ml 1 x 125ml 1 x 125ml	€22.45 €26.05 €40.70 €20.70 €25.50 €25.50	n/a n/a n/a n/a n/a	€29.50 €33.75 €53.00 €27.00 €33.25 €33.25
and the second s	BALANCE Balance Shampoo Balance Mask Balance Lotion Balance Energy Serum	1 x 250ml 1 x 200ml 1 x 125ml 1 x 100ml	€22.45 €37.05 €24.85 €51.35	n/a n/a n/a	€29.50 €48.25 €32.50 €66.75
	PURIFY Purify Shampoo Purify Shampeeling Purify Lotion Purify Mask	1 x 250ml 1 x 150ml 1 x 125ml 1 x 200ml	€22.45 €29.60 €25.50 €37.05	n/a n/a n/a	€29.50 €38.50 €33.25 €48.25
6 1000	HYDRATE Hydrate Shampoo Hydrate Conditioner Hydrate Mask Hydrate Quenching Mist	1 x 250ml 1 x 200ml 1 x 200ml 1 x 125ml	€22.45 €26.05 €37.05 €25.50	n/a n/a n/a	€29.50 €33.75 €48.25 €33.25
- fries	VOLUMIZE Volumize Shampoo Volumize Mask Volumize Aerolifter	1 x 250ml 1 x 200ml 1 x 150ml	€22.45 €37.05 €29.25	n/a n/a n/a	€29.50 €48.25 €38.25
6 mir	SMOOTHEN Smoothen Shampoo Smoothen Conditioner Smoothen Mask	1 x 250ml 1 x 200ml 1 x 200ml	€22.45 €26.05 €37.05	n/a n/a n/a	€29.50 €33.75 €48.25

New accounts stocking System Professional are subject to additional terms and conditions. Please ask your Account Manager. *Recommended Retail Prices are non-binding and all prices are at the sole discretion of the salon.

SYSTEM PROFESSIONAL





RETAIL	PRODUCT	PACK	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*	
000	INESSENCE					
	Inessence Shampoo	1 x 250ml	€24.95	n/a	€32.75	
SESTER.	Inessence Conditioner	1 x 200ml	€28.40	n/a	€37.25	
-	Inessence Mask	1 x 200ml	€38.30	n/a	€49.75	
-	EXTRA					
	Alpha Energy	1 x 100ml	€68.95	n/a	€82.50	
.s.	Liquid Hair	1 x 100ml	€68.95	n/a	€82.50	
	Elastic Force	1 x 125ml	€68.95	n/a	€82.50	
	Silver Shampoo	1 x 250ml	€22.45	n/a	€29.50	
	Silver Shampoo Sachet	20 x 15ml	n/a	€12.10	n/a	
	STYLE					
	Amplifying Foam	1 x 200ml	€29.80	n/a	€44.50	
00	Blue Shaper	1 x 150ml	€26.50	n/a	€34.75	
	Curl Definer	1 x 200ml	€28.40	n/a	€37.25	
	Instant Energy	1 x 200ml	€30.15	n/a	€39.25	
	Instant Reset	1 x 180ml	€22.90	n/a	€29.75	
	Instant Reset	1 x 65ml	€11.45	n/a	€15.25	
	Perfect Ends	1 x 40ml	€38.50	n/a	€50.00	
	Soft Touch	1 x 75ml	€29.05	n/a	€38.00	
	Unlimited Structure	1 x 75ml	€21.65	n/a	€28.25	
	Volumize Aerohold	1 x 75ml	€11.30	n/a	€14.70	
	ACCESSORIES					
	Spatula	Single	€1.65	n/a	n/a	
	Brush	Single	€3.10	n/a	n/a	
	1 Litre Shampoo Bottle Pump	Single	€3.75	n/a	n/a	
	1 Litre Conditioner bottle pump	Single	€3.75	n/a	n/a	
	Bowl	Single	€4.85	n/a	n/a	
	Kimono	Single	€35.85	n/a	n/a	
	Man Cape	Single	€20.25	n/a	n/a	
	Towel	Single	€10.55	n/a	n/a	
	Trolley	Single	€437.05	n/a	n/a	
	Cape/Gown White	Single	€33.50	n/a	n/a	

SYSTEM MAN



CARE Triple Shampoo Energy Shampoo Energy Shampoo Hair & Beard Conditioner	1 x 250ml 1 x 250ml 1 x 1000ml 1 x 200ml	€22.75 €22.75 €29.80	n/a n/a n/a	€29.75 €29.75 n/a €34.00
Hair & Beard Conditioner Hair & Beard Conditioner Hair & Beard Oil	1 x 200ml 1 x 1000ml 1 x 50ml	€26.30 €45.45 €28.60	n/a n/a n/a	€34.00 n/a €37.50
STYLE Wax Pomade Maximum Gel Matte Creamw	1 x 80ml 1 x 150ml 1 x 80ml	€19.05 €19.05 €19.05	n/a n/a n/a	€25.00 €25.00 €25.00

SEBASTIAN PROFESSIONAL



RRP 2023*

LIST PRICE LIST PRICE



RETAIL

SALON

PRODUCT

	PRODUCT	PACK	SINGLE	CASE	RRP 2023	
٦	CARE					
	Trilliance Shampoo	1000ml	€30.25	n/a	n/a	
	Trilliance Conditioner	1000ml	€37.15	n/a	n/a	
	Hydre Shampoo	1000ml	€30.25	n/a n/a	n/a	
		1000ml	€37.15	n/a	n/a	
	Hydre Conditioner Hydre Treatment	500ml	€39.50	n/a	n/a	
	Penetraitt Shampoo	1000ml	€39.50	n/a	n/a	
	Penetraitt Snampoo	1000ml	€37.15	n/a		
	Penetraitt Mask	500ml	€39.50	n/a n/a	n/a n/a	
	Volupt Shampoo	1000ml	€30.25	n/a	n/a	
	Volupt Snampoo Volupt Conditioner	1000ml	€37.15	n/a	n/a	
		1000ml	€30.25	n/a		
	Color Ignite Multi Shampoo Dark Oil Shampoo	1000ml	€32.85	n/a	n/a	
	Dark Oil Snampoo Dark Oil Conditioner	1000ml	€32.65	n/a n/a	n/a n/a	
	Dark Oil Mask	500ml	€43.60	n/a	n/a	
	Twisted Elastic Cleanser Shampoo	1000ml	€32.85	n/a	n/a	
		1000ml	€32.65	n/a	n/a	
	Twisted Elastic Detangler Conditioner					
	Twisted Elastic Mask	500ml	€43.60	n/a	n/a	
	Reset Shampoo Preset Conditioner	1000ml 1000ml	€30.25 €37.15	n/a	n/a	
	Potion 9	500ml	€51.80	n/a n/a	n/a	
	1000ML Pump		€3.50		n/a	
		Single	£3.50	n/a	n/a	
	CELLOPHONES					
	Cellophanes Clear	300ml	€29.70	n/a	n/a	
	Cellophanes Vanilla Blonde	300ml	€29.70	n/a	n/a	
	Cellophanes Ice Blonde	300ml	€29.70	n/a	n/a	
	Cellophanes Honeycomb Blonde	300ml	€29.70	n/a	n/a	
	Cellophanes Champagne Blonde	300ml	€29.70	n/a	n/a	
	Cellophanes Cinnamon Red	300ml	€29.70	n/a	n/a	
	Cellophanes Espresso Brown	300ml	€29.70	n/a	n/a	
	Cellophanes Caramel Brown	300ml	€29.70	n/a	n/a	
	Cellophanes Chocolate Brown	300ml	€29.70	n/a	n/a	
	Cellophanes Cranberry Red	300ml	€29.70	n/a	n/a	
	FOUNDATION -					
	CLEANSE & CONDITION					
7	Dark Oil Shampoo	250ml	€12.90	n/a	€26.25	
	Dark Oil Conditioner	250ml	€14.95	n/a	€30.00	
	Dark Oil Mask	150ml	€17.70	n/a	€36.00	
	Trilliance Shampoo	250ml	€11.70	n/a	€23.50	
	Trilliance Conditioner	250ml	€13.55	n/a	€26.75	
	Hydre Shampoo	250ml	€11.70	n/a	€23.50	
	Hydre Conditioner	250ml	€13.55	n/a	€26.75	
	Hydre Mask	150ml	€15.65	n/a	€20.25	
	Penetraitt Shampoo	250ml	€11.70	n/a	€23.50	
	Penetraitt Conditioner	250ml	€13.55	n/a	€26.75	
	Penetraitt Mask	150ml	€15.65	n/a	€20.25	
	Volupt Shampoo	250ml	€11.70	n/a	€23.50	
	Volupt Conditioner	250ml	€13.55	n/a	€26.75	
	Color Ignite Multi Shampoo	250ml	€11.70	n/a	€23.50	
	Reset Shampoo	250ml	€11.70	n/a	€23.50	
	Preset Conditioner	250ml	€13.55	n/a	€26.75	

PACK

SEBASTIAN PROFESSIONAL



RRP 2023*

LIST PRICE LIST PRICE



RETAIL

PRODUCT

	PRODUCI	FACK	SINGLE	CASE	KKF 2023	
1	FORM - SCULPTING STYLERS					
	Microweb Fiber	45ml	€13.40	n/a	€26.50	
	Craft Clay	50g	€13.40	n/a	€26.50	
	Matte Putty	75g	€13.40	n/a	€26.50	
	Molding Mud	75g	€13.40	n/a	€26.50	
	Drynamic	212ml	€14.00	n/a	€28.00	
	Liquid Steel	140ml	€14.00	n/a	€28.00	
	Gel Forte	200ml	€14.00	n/a	€28.00	
	Texturizer	150ml	€14.00	n/a	€28.00	
	Mousse Forte	200ml	€14.00	n/a	€28.00	
	Re-Shaper	400ml	€13.40	n/a	€26.50	
	Shaper Zero Gravity	400ml	€13.40	n/a	€26.50	
	Shaper Fierce	400ml	€13.40	n/a	€26.50	
	Volupt Spray	150ml	€14.00	n/a	€28.00	
	Texture Maker	150ml	€14.00	n/a	€28.00	
	Dark Oil Fragrance Mist	200ml	€14.00	n/a	€28.00	
	No Breaker	100ml	€22.65	n/a	€45.00	
1	FLOW - ESSENTIAL CARING STYLERS					
	Sublimate Crème	100ml	€13.40	n/a	€26.50	
	Whipped Crème	150ml	€16.00	n/a	€20.30	
	Taming Elixir	140ml	€16.00	n/a	€33.00	
1	Thickefy Foam	190ml	€16.00	n/a	€33.00	
	Potion 9	150ml	€17.95	n/a	€35.75	
	Potion 9 Lite	150ml	€17.95	n/a	€35.75	
	Dark Oil	95ml	€22.65	n/a	€45.00	
		20111	022.000	,	0.000	
]	FLAUNT - SHINE STYLERS					
	Trilliant	150ml	€16.00	n/a	€33.00	
	Shine Define	200ml	€16.00	n/a	€33.00	
] 1	FLEX - ELASTIC CURLS					
	Twisted Elastic Cleanser Curl Shampoo	250ml	€12.90	n/a	€26.25	
	Twisted Elastic Cleanser Curl Shampoo	250ml	€14.95	n/a	€30.00	
	Twisted Elastic Curl Mask	150ml	€17.70	n/a	€36.00	
	Twisted Curl Cream	145ml	€17.90	n/a	€36.00	
		7-0111	C17.70	11/4	000.00	
]	HANDBAG STYLERS					
	Dark Oil	30ml	€11.00	n/a	€22.25	
	Potion 9	50ml	€7.40	n/a	€15.00	

PACK



NIOXIN

NIOXIN.

	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	NIOXIN CLEANSER SYSTEMS 1-6 Cleanser System 1- 6	1 x 1000ml	€36.95	n/a	n/a
	NIOXIN SCALP REVITALISER SYSTEMS 1-6 Revitaliser System 1-6	1 x 1000ml	€41.60	n/a	n/a
	NIOXIN THERAPY TREATMENTS Scalp Renew Dermabrasion Service Color Lock Scalp Protect Serum Hair Booster Deep Repair Hair Mask	1 x 75ml 1 x 150ml 6 x 8ml 1 x 100ml 1 x 500ml	€19.80 €19.80 €25.20 €58.40 €53.00	n/a n/a n/a n/a	n/a €25.75 €33.00 €76.25 n/a
	NIOXIN THREE PART SYSTEM KIT (150ml + 150ml + 50ml) Kit System 1-6 NIOXIN THREE PART LOYALTY KIT	1 x Kit	€36.30	n/a	€47.25
	(300ml + 300ml + 100ml) Kit System 1 -6	1 x Kit	€54.90	n/a	€71.25
No. 1	NIOXIN CLEANSER SYSTEMS 1-6 Cleanser System 1- 6	1 x 300ml	€21.10	n/a	€27.50
	NIOXIN SCALP REVITALISER SYSTEMS 1-6 Revitaliser System 1-6	1 x 300ml	€25.65	n/a	€33.25
	NIOXIN SCALP TREATMENT SYSTEMS 1-6 Treatment System 1-6	1 x 100ml	€29.25	n/a	€38.50
	NIOXIN SCALP RECOVERY Scalp Recovery Kit Scalp Recovery Cleanser Scalp Recovery Conditioner Scalp Recovery Serum Scalp Recovery Purifying Exfoliator Scalp Recovery Shampoo 1L Scalp Recovery Conditioner 1L	1 x kit 1 x 200ml 1 x 200ml 1 x 100ml 1 x 50ml 1 x 1000ml 1 x 1000ml	€30.60 €20.45 €24.40 €29.70 €17.70 €36.95 €41.60	n/a n/a n/a n/a n/a n/a	€48.25 €26.75 €32.00 €39.00 n/a n/a n/a
	NIOXIN INTENSIVE TREATMENTS Deep Repair Hair Diaboost Night Density Density Defend Anti-Hair Loss Serum Hair Booster	1 x 150ml 1 x 100ml 1 x 70ml 1 x 200ml 1 x 70ml 1 x 50ml	€24.40 €52.70 €52.70 €24.40 €46.10 €41.35	n/a n/a n/a n/a n/a	€32.00 €68.75 €68.75 €32.00 €60.00 €54.00
РРОТНІСК	PRO-THICK RANGE Niospray Strong Hold Hairspray Bodifying Foam Thickening Spray Thickening Gel	1 x 400ml 1 x 200ml 1 x 150ml 1 x 140ml	€21.80 €21.80 €21.80 €21.80	n/a n/a n/a	€28.50 €28.50 €28.50 €28.50
LIGHT PLEX™	LIGHT-PLEX RANGE Therm Activ Protector Instant Fullness Instant Fullness	1 x 150ml 1 x 180ml 1 x 65ml	€21.80 €21.80 €11.65	n/a n/a n/a	€28.50 €28.50 €15.50
NORN TOTAL	SUPPLEMENTS Recharging ComplexTM Food Supplement	1 x 30 tablets	€47.85	n/a	€62.50
	PUMP 1L Nioxin Pump	Single	€2.50	n/a	n/a

SASSOON PROFESSIONAL



RETAIL	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	CADE				
<u>50550011</u>	CARE Pure Clean	6 x 250ml	€12.30	€73.80	€25.00
	Pure Clean	1 x 1000ml	€33.30	n/a	n/a
	Precision Clean	6 x 250ml	€12.30	€73.80	€25.00
	Precision Clean	1 x 1000ml	€33.30	n/a	n/a
	Rich Clean	6 x 250ml	€12.30	€73.80	€25.00
	Rich Clean	1 x 1000ml	€33.30	n/a	n/a
	Advanced Condition	6 x 250ml	€14.25	€85.50	€33.50
	Advanced Condition	1 x 1000ml	€34.75	n/a	n/a
	Halo Hydrate	6 x 150ml	€15.10	€90.60	€30.25
	Intense Restore	6 x 170ml	€15.10	€90.60	€30.25
	FINISH				
L HERE	Curl Form	6 x 150ml	€13.80	€82.80	€27.75
15000	Heat Shape	6 x 150ml	€13.80	€82.80	€27.75
	Smooth Drape	6 x 150ml	€13.80	€82.80	€27.75
	Texture Refine	6 x 50ml	€11.90	€71.40	€23.75
	Diamond Polish	6 x 50ml	€16.60	€99.60	€33.50
	Motion Hold	6 x 300ml	€11.90	€71.40	€23.75
	Edit Body	6 x 200ml	€15.60	€93.60	€31.25
	Edit Hold	6 x 400ml	€12.65	€75.90	n/a
	COLOUR PROTECT				
10 10 10	Illuminating Clean	6 x 250ml	€14.25	€85.50	€25.00
2000	Illuminating Clean	1 x 1000ml	€35.75	n/a	n/a
	Illuminating Condition	6 x 250ml	€16.50	€99.00	€33.25
	Illuminating Condition	1 x 1000ml	€37.55	n/a	n/a
	Illuminating Restore	6 x 170ml	€18.00	€108.00	€36.00
	Illuminating Restore	1 x 500ml	€40.65	n/a	n/a
	Illuminating Oil	1 x 100ml	€23.75	n/a	€47.50
	Seal Colour	6 x 150ml	€9.00	€54.00	n/a
	COLOUR				
6 Z	CREMAGEL	3 x 60ml	€15.30	€45.90	n/a
SASSOON	CREMABLONDE	3 x 60ml	€15.20	€45.60	n/a
51	NTENSITONE	1 x 60ml	€12.65	n/a	n/a
-	OTHER COLOUR PRODUCTS				
SASS	White Up	1 x 800g	€70.20	n/a	n/a
SASSOON	Magic Off Fluid	1 x 500ml	€12.85	n/a	n/a
	Magic Off Sachets	5 x 9g	€30.80	n/a	n/a
四 [2	Magic On	1 x 100ml	€56.70	n/a	n/a
	Foil Grip	1 x 75ml	€10.15	n/a	n/a
\$4 <u>5</u> 500M	COLOUR DEVELOP				
	Colour Develop 3% / 6% / 9% / 12%	1 x 1000ml	€14.45	n/a	n/a
	COLOUR ACCESSORIES				
	Colour Brush	1 x Brush	€3.10	n/a	n/a
	Pump For 1L Bottle	1 x Pump	€5.90	n/a	n/a
	Colour Gown	1 x Gown	€31.35	n/a	n/a
	Towel Grey	1 x Towel	€6.90	n/a	n/a

WEDO/



SALON	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
	CARE				
	Light & Soft Conditioner	1 x 900ml	€48.20	n/a	n/a
	Light & Soft Mask	1 x 400ml	€46.50	n/a	n/a
	Moisture & Shine Cleanser	1 x 900ml	€38.80	n/a	n/a
	Moisture & Shine Conditioner	1 x 900ml	€48.20	n/a	n/a
	Moisture & Shine Mask	1 x 400ml	€46.50	n/a	n/a
	Rich & Repair Cleanser	1 x 900ml	€38.80	n/a	n/a
		1 x 900ml	€48.20	n/a	n/a
	Rich & Repair Conditioner	1 x 400ml	€46.50	n/a	n/a
	Rich & Repair Mask	1 x 400mi	€40.50	II/d	II/d
RETAIL	CARE				
	Light & Soft Cleanser	6 x 100ml	€8.60	€51.60	€10.50
weDo/	Light & Soft Cleanser	6 x 300ml	€19.40	€116.40	€23.75
1000 mm	Light & Soft Conditioner	6 x 75ml	€8.60	€51.60	€10.50
- 22	Light & Soft Conditioner	6 x 250ml	€19.40	€116.40	€23.75
	Light & Soft Mask	6 x 75ml	€14.20	€85.20	€17.50
	Light & Soft Mask	6 x 150ml	€21.10	€126.60	€26.00
	Moisture & Shine Cleanser	6 x 100ml	€8.60	€51.60	€10.50
	Moisture & Shine Cleanser	6 x 300ml	€19.40	€116.40	€23.75
	Moisture & Shine Conditioner	6 x 75ml	€8.60	€51.60	€10.50
	Moisture & Shine Conditioner	6 x 250 ml	€19.40	€116.40	€23.75
	Moisture & Shine Mask	6 x 75ml	€14.20	€85.20	€17.50
	Moisture & Shine Mask	6 x 150ml	€21.10	€126.60	€26.00
	Rich & Repair Cleanser	6 x 100ml	€8.60	€51.60	€10.50
	Rich & Repair Cleanser	6 x 300ml	€19.40	€116.40	€23.75
	Rich & Repair Conditioner	6 x 75ml	€8.60	€51.60	€10.50
	Rich & Repair Conditioner	6 x 250 ml	€19.40	€116.40	€23.75
	Rich & Repair Mask	6 x 75ml	€14.20	€85.20	€17.50
	Rich & Repair Mask	6 x 150ml	€21.10	€126.60	€26.00
	Moisture & Shine Shampoo Bar	6 x 80g	€14.20	€85.20	€17.50
	Light & Soft Shampoo Bar	6 x 80g	€14.20	€85.20	€17.50
	Light and Soft Shampoo Pouch	1 x 1000ml	€38.80	n/a	€46.50
	Light and Soft Conditioner Pouch	1 x 1000ml	€48.20	n/a	€58.25
	Light and Soft Mask Pouch	1 x 500ml	€48.90	n/a	€58.75
	Moisture and Shine Shampoo Pouch	1 x 1000ml	€38.80	n/a	€46.50
	Moisture and Shine Conditioner Pouch	1 x 1000ml	€48.20	n/a	€58.25
	Moisture and Shine Mask Pouch	1 x 500ml	€48.90	n/a	€58.75
	Rich and Repair Shampoo Pouch	1 x 1000ml	€38.80	n/a	€46.50
	Rich and Repair Conditioner Pouch	1 x 1000ml	€48.20	n/a	€58.25
	Rich and Repair Mask Pouch	1 x 500ml	€48.90	n/a	€58.75
	Refil Station	1 pc	€7.60	n/a	€9.50
	Refil Pump	1 pc	€3.20	n/a	€3.75
	LEAVE IN				
1	LEAVE IN Moisturising Day Cream	6 x 100ml	€17.30	€103.80	€21.25
- SE-		6 x 100ml	€17.30	€103.80	€21.25
- 92	Nourishing Night Cream		€21.10		
	Spread Happiness Mist	6 x 100ml		€126.60	€26.00
	Natural Oil Seala Dafrach Tania	6 x 100ml	€33.60	€201.60	€41.25
	Scalp Refresh Tonic	6 x 100ml	€21.10	€126.60	€26.00
	Detangle Spray	6 x 100ml	€17.30	€103.80	€21.25

EQUIPMENT & ACCESSORIES



SALON	PRODUCT	РАСК	LIST PRICE SINGLE	LIST PRICE CASE	RRP 2023*
60	LARGE EQUIPMENT Climazon ² Pedestal Black Climazon ² Wall Mounted Black Climazon ² Wall Mounted Silver Infrazon Pedestal Black	Single Single Single Single	€4,575.10 €4,796.90 €4,796.90 €1,639.90	n/a n/a n/a n/a	n/a n/a n/a
	SMALL EQUIPMENT Xpert Clipper Contura Clipper Sahira Hair Dryer	Single Single Single	€400.80 €240.10 €126.20	n/a n/a n/a	n/a n/a n/a
50	TROLLEYS Wellaboy III Colour Station III	Single Single	€443.60 €406.90	n/a n/a	n/a n/a
	BRUSH & COMBS Colour Brush Illuminage Brush Colour Brush with comb Balayage Paddle Large Colour brush Freehand Small angled Balayage brush Wide Colour Brush Shinefinity Base Brush Shinefinity Comb	Single Single Single Single Single Single Single Single	€3.50 €3.50 €4.50 €3.50 €3.50 €3.50 €1.50 €3.50	n/a n/a n/a n/a n/a n/a n/a	n/a n/a n/a n/a n/a n/a n/a
	STORAGE Colour Storage System Colour Storage Rail Shinefinity Storage Rack	1 x pack (5) Single Single	€33.70 €6.80 €14.30	n/a n/a n/a	n/a n/a n/a
	WRAP & FOIL Wrapmaster Aluminium Foil Set 4 Colour Aluminium Foil Silver Gold and White wraps Colour Cling Colour Pads Illuminage Clear Sheets Illumainge Highlights Paper 25cm Illumainge Highlights Paper 50cm Extra large wide foils	Single 4 x 50m Single 1 x pack (100) 1 x pack (250)	<pre>€41.10 n/a €22.00 €10.80 €8.12 €20.46 €10.80 €13.60 €22.00 €20.50</pre>	n/a €48.20 n/a n/a n/a n/a n/a n/a n/a n/a	n/a n/a n/a n/a n/a n/a n/a n/a
	OTHER COLOUR ACCESSORIES 240ml Application Bottle Perfecton Bottle Applicator 500ml Colour Bowl Meauring Cup Colour Scale	Single Single Single Single Single	€2.30 €3.50 €2.30 €3.50 €108.50	n/a n/a n/a n/a	n/a n/a n/a n/a
	GENERAL ACCESSORIES Wella Spray bottle Wella Apron - Black Wella Cape/Gown Wella Towels Wella Section Clips Box of Gloves - Black 2 pairs of gloves	Single Single Single Single 1 x pack (5) 1 x pack (100) 1 x pack (2 pairs)	€4.50 €22.00 €33.70 €5.80 €8.70 €10.70 €0.60	n/a n/a n/a n/a n/a	n/a n/a n/a n/a n/a n/a





Terms and Conditions of Sale of Wella UK Ltd Irish Branch

1 INTERPRETATION

In these Conditions the following words have the following 1.1 meanings: "Companies Acts," Irish Companies Acts 1963 - 2009 and any amendments thereto of Regulations passed pursuant to same "Contract" means any contract incorporating these Conditions between You and Wella for the sale and purchase of Products; "Your Account" means the credit account opened and maintained by Wella in Your name; "Products" means the Professional Products, Salon-Exclusive Resale Products agreed to be sold to You by Wella; "Professional Products" hair and body products and hairdressing equipment and accessories exclusively for professional use by hairdressers and not for resale to private end users; "Salon- Exclusive **Resale Products"** hair and body products designated for either resale to private end users or use by hairdressers; **"Wella"** means Wella UK Ltd Irish Branch registered in Ireland with No.909445 with branch registration address of Wella Professionals Studio, Ground Floor and Part 1st Floor, The Chancery, 3 - 10 Chancery Lane, Dublin 8, D08 E4PK. Wella Ireland is a registered branch of Wella UK Ltd Irish Branch a private limited liability company registered in England and Wales under company No.00271363 **"You, Your, Yourself"** means the person, firm or company to whom any quotation is given

or with whom a Contract is made. In these Conditions, unless the context otherwise requires, references to any statute or statutory provision shall be construed as a reference to that statute or statutory provision as from time to time amended, consolidated, modified.

re-enacted or replaced.

2 CONTRACT

Wella will only accept orders submitted by You for Products at 2.1 or above the current agreed minimum order value guoted on Wella's then current price list (if any). Each order for the Products by You shall be deemed to be an offer by You to purchase Products from Wella subject to these Conditions. The Contract shall be binding on you and Wella once Wella has accepted Your order for the Products. No order placed by You shall be deemed to be accepted by Wella until Wella issues an invoice to You or (if earlier) delivers the Products to You.

2.2 Unless varied in accordance with Condition 2.3, the Contract will be governed by these Terms and Conditions of Sale and no other terms and conditions, including any which You purport to apply under any purchase order, confirmation of order or other document, shall apply.

2.3 No variation of these Conditions requested by You shall be binding on Wella unless expressly agreed in writing by the Executive Director of Professional Division for Wella (or equivalent) but Wella may vary these Conditions at any time upon giving You notice.

2.4 Each order for Products accepted by Wella in accordance with these Conditions shall constitute a separate Contract. Wella recommends that Professional Products are not sold 2.5

to private end users. To the fullest extent permitted by law, Wella will not accept liability for Professional Products sold to private end users. 2.6 Where the value of the order placed is less then €150 Euro (ex vat and discounts) Wella will apply a €15 delivery charge. **3 PRICE**

3.1 All price lists, contract prices, quotations or other material issued by Wella are for guidance only. The price of the Products shall be the price set out in Wella's price list published on the date the Contract is concluded or the contract price agreed between Wella and You (as applicable).

3.2 Where Wella gives You a guotation, Wella may withdraw that quotation at any time unless and until Wella issues You with a written confirmation of order.

3.3 All Product prices are exclusive of VAT. You will be charged VAT at the rate in force at the date of invoice.

3.4 All Product prices are exclusive of delivery charges (quoted in Wella's then current price list or as otherwise agreed) which will be added to the invoice Wella issue to You, if applicable. **3.5** Should Wella choose to offer You trade terms in relation to its

Products, these may differ depending on whether Your purchase of Products is for resale in the E commerce or salon channel. Wella reserves the right to request proof of the particular channel into which resale has been made. Should you misrepresent the channel into which Products are being sold this will amount to a breach of Contract.

3.6 The Parties agree that where retrospective discounts are due to You these will be paid without the issue of credit notes.

4 PAYMENT AND YOUR ACCOUNT

4.1 The Account Information Form is Your application to become a Wella customer. If Wella accepts Your application, Wella will open Your Account.

4.2 Orders for Professional Products and/or Salon-Exclusive Resale Products: Wella will invoice You for the full amount due on or after delivery and invoices are payable in accordance with Condition 4.3. **4.3** Unless otherwise specified in these Conditions, all invoices shall be paid within 30 days of the date of invoice. Time shall be of the essence for payment under the Contract and no payment shall be deemed to have been received until Wella has received cleared

funds.

4.4 You shall make all payments due under the Contract to Wella without any deduction whether by way of set-off, counterclaim, discount, abatement or otherwise unless You have a valid court order requiring Wella to pay You an amount equal to such deduction. 4.5 If You do not pay Wella any amount You owe Wella on time (whether under a Contract or otherwise), subject to Condition 11.1, Wella reserves the right to:

4.5.1 immediately and without notice to You, suspend the delivery of any further Products to You and Wella shall not be required to resume delivery of those Products to You until all amounts You owe Wella have been paid in full:

4.5.2 charge You interest on all outstanding amounts due at the rate of 4% per annum above the base rate of AIB Bank from time to time in force which shall accrue daily from the due date to the date of actual payment.

4.5.3 require You to pay Wella immediately on demand on a full indemnity basis all costs, charges and expenses (including the costs of legal representation) which Wella may incur in pursuing You for payment.

4.5.4 If you pay by a cheque, direct debit or other item and Your bank or building society does not honour this payment a return payment fee of €14 will be applied directly to your account and will be due and payable immediately. We may change the amount of this fee by providing you with prior notice.

4.6 Products are not sold on a 'sale or return' basis.

4.7 If Wella exercises its discretion to exchange or accept back non-faulty Products then Products You return to Wella must be in a saleable condition and You must pay an administration charge of the higher of €50.00 or 10% of the full price of the returned Products. **5 DELIVERY**

Unless otherwise agreed in writing between Wella and You, 5.1 Wella will arrange for the Products to be delivered to You at Your delivery address as set out in Your Account Information Form. The Products are at Your risk when they are ready to be unloaded at Your delivery address.

5.2 Wella shall use reasonable endeavours to deliver the Products on any dates specified by Wella for delivery of the Products, but delivery of the essence for delivery.

5.3 Subject to Condition 8.3, Wella shall not be liable to You for any losses whatsoever which You suffer as a direct or indirect result of any delay in the delivery of all or any of the Products, even if caused by Wella's negligence, and You shall not be entitled to terminate the Contract unless such delay exceeds 5 weeks.

5.4 If for any reason You do not accept delivery of the Products when they are ready to be delivered or if Wella is unable to deliver the Products because You have not provided Wella with appropriate instructions or payment:

5.4.1 risk for the Products will immediately pass to You;

5.4.2 the Products will deemed to have been delivered to You; and 5.4.3 Wella may store the Products until actual delivery takes place and You will be liable to reimburse Wella for all related costs and expenses Wella incurs, including but not limited to the costs of storage and insurance.

You shall not be entitled to reject a delivery of Products and 5.5 cancel the Contract by reason only of Wella delivering up to 5% more or less than the quantity of Products You have ordered. If there is a shortfall Wella will either make up the shortfall or only charge You for the quantity actually received. If there is a surplus You can either return the surplus to Wella or retain it, provided that if You retain it Wella will invoice You for the full quantity actually received. 5.6 Wella may deliver the Products by installments and each installment shall be treated as a separate Contract so that failure to deliver an installment or the presence of a defect in an installment

shall not entitle You to reject the other installments or to refuse to pay for Products actually delivered. 6 TITLE

6.1 Ownership of the Products shall not pass to You until the later of receipt by Wella in full, in cleared funds, of all sums due to Wella in respect of:

6.1.1 the Products; and/or

6.1.2 all other sums which are or which become due to Wella on any account, although in the case of Professional Products and/or Salon-Exclusive Resale Products, ownership will pass to You when You use them if this occurs earlier, or

6.1.3 delivery by Wella in accordance with clause 5

6.2 Until ownership of the Products has passed to You, You must: 6.2.1 hold the Products on behalf of Wella, take responsibility for keeping them safe and deal with them in accordance with Wella's instructions:

6.2.2 store the Products separately from all Your other Products in such a way that they remain readily identifiable as Wella's property; and

6.2.3 maintain the Products in satisfactory condition.

6.3 Subject to the provisions of Conditions 2.5 and 2.6, You may resell the Products before ownership has passed to You provided that:

6.3.1 any resale of the Products is a sale of Wella's property on Your own behalf and You shall deal as principal when making the resale; and

6.3.2 You shall hold such part of the proceeds of the resale of the Products as represent the amount owed by You to Wella for those Products on behalf of Wella and You shall account to Wella accordingly.

6.4 Your right to possession to the Products shall be terminated immediately if either:

6.4.1 You (being an individual) have a bankruptcy order made against You or make an arrangement or composition with Your creditors or take or suffer any similar or analogous action in consequence of debt, or You (being a body corporate) convene a meeting of creditors, enter into liquidation, or have a receiver and/ or manager, administrator or administrative receiver appointed of Your undertaking or any part thereof, or a resolution is passed or a petition presented to any court for You to be wound up or any steps are taken (including, without limitation, the making of an application or the giving of any notice) by You or any other person for the appointment of an administrator in respect of You, or any proceedings are commenced relating to Your insolvency or if You take or suffer any analogous action in consequence of debt; or 6.4.2 any amount You owe Wella has still not been paid 30 days after the due date.

6.5 Wella shall be entitled to recover payment for the Products from You even though ownership has not passed from Wella.

6.6 You grant Wella, its agents, employees and sub-contractors an irrevocable licence at any time to enter any premises where Products may be stored in order to recover them where Your right to possess them has terminated.

7 WARRANTIES

7.1 Subject to the other provisions of these Conditions, Wella warrants that:

7.1.1 upon delivery the Professional Products and the Salon-Exclusive Resale Products will be of satisfactory quality provided that they are used in accordance with Wella's instructions and Wella's recommendations.

7.2 If the Products are defective at the date of delivery to You or if You are sent an inaccurate or incomplete delivery, You must:7.2.1 notify Wella of the problem within 7 days of actual delivery;

7.2.2 at Wella's request, return the relevant Product(s) to Wella at

Your own expense. If You fail to take these steps, Wella shall not be liable to You for such defect or inaccurate or incomplete delivery and You shall not be entitled to cancel the Contract.

7.3 If You notify Wella of any defect or inaccurate or incomplete order and return any defective Product(s) to Wella in accordance with Condition 7.2, then, subject to the claim being valid, Wella reserves the right at its sole option to either:

7.3.1 pay You damages; or

7.3.2 refund the purchase price to You; or

7.3.3 deliver substitute and/or additional Product(s) to You, provided that any damages recoverable by You pursuant to this Condition 7.3 shall be limited to the purchase price of the relevant Product(s).

7.4 Wella shall not be liable for a breach of any of the warranties in Condition 7.1 if:

7.4.1 You use the Products after giving notice to Wella of the defect; **7.4.2** the defect arises because You failed to follow Wella's oral or written instructions as to the storage,installation, use or maintenance of the Products and/or good trade practice; or

7.4.3 You alter or attempt to repair the Products without Wella's prior written consent.

8 LIMITATION ON LIABILITY

8.1 Subject to Condition 7, the following provisions set out the entire financial liability of Wella to You in respect of:

8.1.1 any breach of these Conditions, and

8.1.2 any representation, statement or tortuous act or omission (including negligence) arising under or in connection with the Contract.

8.2 All warranties, conditions and other terms implied by statute or common law are to the fullest extent permitted by law, excluded from the Contract.

8.3 Nothing in these Conditions excludes or limits liability for death or personal injury caused by the negligence of Wella or its employees, agents or sub-contractors, or for fraudulent misrepresentation.

8.4 Subject to Conditions 8.2 and 8.3:

8.4.1 Wella's total liability in contract, tort, misrepresentation or otherwise arising in connection with the performance or contemplated performance of this Contract shall be limited to the price payable for the Products under the Contract plus 5%; and
8.4.2 Wella shall not be liable to You for any indirect loss or damage or for any loss of profit, loss of business, or depletion of goodwill (in each case whether direct or indirect) howsoever caused which arises out of or in connection with the Contract.

9 TERMINATION

9.1 Wella may terminate the Contract immediately on giving You written notice if any of the following should occur:

9.1.1 If Conditions 6.4.1 or 6.4.2 shall apply

9.1.2 If you suffer or allow any execution whether legal or equitable to be levied on Your property or obtained against You or fail to observe or perform any of your obligations under this Contract or any Contract concluded between You and Wella or you are unable to pay your debts within the meaning of that term in the Companies Acts.

9.1.3 If you Sell all or part of your business

9.2 If the Contract is terminated for any reason:

9.2.1 You shall remain liable to Wella for any of Your obligations which arose prior to termination of the Contract or which arise as a result of termination of the Contract; and

9.2.2 all amounts which have been invoiced to You by Wella shall become immediately due and payable, notwithstanding the provisions of Condition 4.4; and

9.2.3 Wella may terminate any or all other contracts it has with you. 10 FORCE MAJEURE

10.1 Wella reserves the right to defer the date of delivery of Products or to cancel the Contract or reduce the volume of Products ordered by You, without liability to You, if Wella is prevented from or delayed in carrying on its business due to circumstances beyond Wella's reasonable control. Such circumstances shall include, without limitation, acts of God, governmental actions, war or national emergency, acts of terrorism, protests, riot, civil commotion, fire, explosion, flood, epidemic, lock-outs, strikes or labour disputes (whether or not relating to Wella's workforce), restraints or delays affecting carriers or delays in obtaining supplies. If the event in question continues for a continuous period of over weeks, You shall be entitled to terminate the Contract on giving Wella prior written notice.

11 GENERAL

11.1 If Wella enforces any right or remedy Wella has under the Contract this shall not prevent Wella from relying on any other right or seeking any other remedy Wella may have, whether under the Contract or otherwise.

11.2 If Wella fails to enforce or delays in enforcing any provision of the Contract, You shall not be entitled to interpret such failure or delay as a waiver by Wella of any of Wella's rights under the Contract. If Wella waives any breach of the Contract by You, You shall not be entitled to interpret such waiver as a waiver of any subsequent breach.

11.3 You shall not be entitled to assign the Contract or any part of it without Wella's prior written consent. Wella may, however, assign its rights and sub-contract its obligations under the Contract to any person, firm or company at any time without notice to You.

11.4 If any provision of the Contract is found, by any court, tribunal or administrative body of competent jurisdiction to be wholly or partly unenforceable or unreasonable for any reason it shall, to the extent of such unenforceability or unreasonableness, be deleted from the Contract and the remaining provisions of the Contract shall remain in full force and effect.

11.5 The parties to the Contract do not intend that any term of the Contract will be enforceable by by any person or body that is not a party to it.

11.6 If You are two or more persons, You shall be jointly and severallyliable under the Contract.

11.7 Any written notice which You need to send Wella under the Contract should be sent to Wella at the address set out at Condition 1.1. If Wella needs to send You a written notice under the Contract Wella will sent it to Your invoice address as stated on Your Account Application Form or as otherwise notified to Wella by You in writing. Notices can be delivered by either Wella or You by hand by ordinary by pre-paid post. A notice delivered by hand shall be deemed to have been received at the time of delivery and a notice sent by ordinary pre-paid post shall be deemed to have been received 2 days after posting.

11.8 Each party to the Contract agrees to comply with all applicable health and safety legislation and regulations from time to time in force.

11.9 Wella Ireland shall sell and You shall purchase products as principals only. This therefore means that no other person shall have the rights or obligations, or be entitled to sue or liable to be sued, under the contracts entered into between Wella Ireland and Yourself. **12 LAW AND JURISDICTION**

The Contract shall be governed and construed in accordance with the law of the Republic of Ireland and the parties to this Agreement irrevocably agree that, subject as provided below, the courts of Ireland shall have exclusive jurisdiction over any claim or matter arising under or in connection with this Agreement and that accordingly any proceedings in respect of any such claim or matter may be brought in such courts. Nothing in this clause shall limit the right of Wella to take proceedings against You in any other court of competent jurisdiction, nor shall the taking of proceedings in any one or more jurisdictions preclude the taking of proceedings in any other jurisdictions, whether concurrently or not, to the extent permitted by the law of such other jurisdiction.



WELLA COMPANY UK&I 5 St Georges House London SW19 4DR

Customer Service 0203 901 1163 Advisory Helpline 0845 7045775 Head Office 0208 971 1300